| WEST CARROLL PARISH                                |           | <u> FLANTEN</u> | TERPRISES PRODUC |            |            |              |  |
|--|-----------|-----------------|------------------|------------|------------|--------------|--|
|  | Number of |                 | Yield per        | Total      | Units of   | Gross Farm   |  |
| Crop   | Producers | Acres           | Acre             | Production | Measure    | Value        |  |
| COTTON   |           |                 |                  |            |            |              |  |
| Lint - Irrigated (Total)                           |           | 19,455.0        | 1,050.00         | 20,427,750 | lbs.       | \$9,838,004  |  |
| Lint - Non-irrigated (Total)                       |           | 980.0           | 800.00           | 784,000    | lbs.       | \$377,574    |  |
| Seed - Irrigated (Total)                           |           | 19,455.0        | 1,680.00         | 32,684,400 | lbs.       | \$1,575,388  |  |
| Seed - Non-irrigated (Total)                       |           | 980.0           | 1,280.00         | 1,254,400  | lbs.       | \$60,462     |  |
| Cotton (Total)                                     | 59        | 20,435.0        |                  |            |            | \$11,851,429 |  |
| FORESTRY   |           |                 |                  |            |            |              |  |
| Pulpwood   |           |                 |                  |            |            |              |  |
| Hardwood   |           |                 |                  | 10,857     | cords      |              |  |
| Pulpwood (Total)                                   |           |                 |                  | 10,857     |            |              |  |
| Saw Timber   |           |                 |                  |            |            |              |  |
| Hardwood   |           |                 |                  | 534,611    | board feet |              |  |
| Saw Timber (Total)                                 |           |                 |                  | 534,611    |            |              |  |
| Total Pulpwood, Chip & Saw,<br>Saw Timber FOB Mill |           |                 |                  |            |            | \$977,219    |  |
| Total Forestry Stumpage                            |           |                 |                  |            |            | \$391,045    |  |
| (Total)  |           |                 |                  |            |            | , , , ,      |  |
| Forestry (Total)                                   |           |                 |                  |            |            | \$977,219    |  |
| FRUITS   |           |                 |                  |            |            |              |  |
| Blueberries (Total)                                | *         | 4.0             | 2,500.00         | 10,000     | lbs.       | \$19,500     |  |
| Peaches (Total)                                    | 6         | 20.0            | 80.00            | 1,600      | bu.        | \$64,000     |  |
| Fruits (Total)                                     |           | 24.0            |                  |            |            | \$83,500     |  |
| FEED GRAINS  |           |                 |                  |            |            |              |  |
| Corn (Total)                                       | 60        | 11,418.0        | 150.00           | 1,712,700  | bu.        | \$4,538,655  |  |
| Grain Sorghum (Total)                              | 6         | 570.0           | 90.00            | 51,300     | cwt.       | \$240,392    |  |
| Oats (Total)                                       | 6         | 264.0           | 70.00            | 18,480     | bu.        | \$32,710     |  |
| Feed Grains (Total)                                |           | 12,252.0        |                  |            |            | \$4,811,756  |  |
| HAY FOR SALE                                       |           |                 |                  |            |            |              |  |
| Grass (Total)                                      | 30        | 900.0           | 0.75             | 675        | tons       | \$62,370     |  |
| Hay for Sale (Total)                               |           | 900.0           |                  |            |            | \$62,370     |  |
| Home Gardens (Total)                               | 250       |                 |                  |            |            | \$50,000     |  |
| WEST CARROLL PARISH                                |           |                 |                  |            |            |              |  |
|  |           |                 |                  |            |            |              |  |

## WEST CARROLL PARISH

## PLANT ENTERPRISES PRODUCTION

|                                      | Number of |          | Yield per | Total      | Units of          | Gross Farm   |
|--------------------------------------|-----------|----------|-----------|------------|-------------------|--------------|
| Crop                                 | Producers | Acres    | Acre      | Production | Measure           | Value        |
| PECANS                               |           |          |           |            |                   |              |
| Native (Total)                       | 15        | 30.0     | 250.00    | 7,500      | lbs.              | \$7,125      |
| Pecans (Total)                       |           | 30.0     |           |            |                   | \$7,125      |
| Rice (Total)                         | 12        | 2,950.0  | 76.50     | 225,675    | cwt.              | \$2,008,508  |
| Sod Production (Total)               | *         | 130.0    |           |            | acre              | \$650,000    |
| Soybeans (Total)                     | 98        | 36,205.0 | 40.00     | 1,448,200  | bu.               | \$8,480,659  |
| SWEET POTATOES                       |           |          |           |            |                   |              |
| Canning (Total)                      |           |          |           | 782,160    |                   | \$4,301,880  |
| Fresh (Total)                        |           |          |           | 1,173,240  |                   | \$12,612,330 |
| Sweet Potatoes (Total)<br>VEGETABLES | 58        | 6,518.0  | 300.00    | 1,955,400  | bu. (50 lbs.)     | \$16,914,210 |
| Cantaloupe (Total)                   | *         | 2.0      | 120.00    | 240        | cartons (40 lbs.) | \$4,183      |
| Cucumber                             |           |          |           |            |                   |              |
| Fresh                                | *         | 1.0      | 300.00    | 300        | bu. (50 lbs.)     | \$5,400      |
| Cucumber (Total)                     |           | 1.0      |           |            | ,                 | \$5,400      |
| Irish Potatoes                       |           |          |           |            |                   |              |
| Fresh                                | *         | 2.0      | 200.00    | 400        | cwt.              | \$14,000     |
| Irish Potatoes (Total)               |           | 2.0      |           |            |                   | \$14,000     |
| Mustard (Fresh) (Total)              | *         | 1.0      | 600.00    | 600        | doz. bunches      | \$4,200      |
| Okra (Fresh) (Total)                 | *         | 1.0      | 200.00    | 200        | bu.               | \$6,000      |
| Peppers                              |           |          |           |            |                   |              |
| Bell                                 | 7         | 2.0      | 750.00    | 1,500      | bu. (28 lb.)      | \$30,000     |
| Peppers (Total)                      |           | 2.0      |           |            |                   | \$30,000     |
| Pumpkin (Fresh) (Total)              | *         | 8.0      | 50.00     | 400        | cwt.              | \$10,000     |
| Southern Peas (Fresh) (Total)        | *         | 140.0    | 125.00    | 17,500     | bu. (24 lbs.)     | \$437,500    |
| Squash (Fresh)                       |           |          |           |            |                   |              |
| Yellow Squash                        | 7         | 4.0      | 170.00    | 680        | bu. (45 lbs.)     | \$15,300     |
| Squash (Fresh) (Total)               |           | 4.0      |           |            |                   | \$15,300     |
| Tomatoes (Field) (Total)             | 6         | 18.0     | 1,100.00  | 19,800     | lugs (20 lbs.)    | \$396,000    |

| VEGETABLES              |           |            |            |             |            |              |              |
|-------------------------|-----------|------------|------------|-------------|------------|--------------|--------------|
| Turnips (Fresh) (Total) | *         | 6.0        |            |             |            | doz. bunches |              |
| Watermelon (Total)      | *         | 4.0        | 150.00     |             | 600        | cwt.         | \$4,800      |
| Vegetables (Total)      |           | 189.0      |            |             |            |              | \$927,383    |
| Wheat (Total)           | 60        | 7,210.0    | 90.00      |             | 648,900    | bu.          | \$2,604,360  |
| TOTAL ALL PLANT ENTERP  | PRISES    |            |            |             |            |              | \$49,428,519 |
|                         | FISHER    | IES & WILI | DLIFE ENTE | RPRISES PRO | DUCTION    |              |              |
|                         | Number of |            | Units of   |             | Total      | Units of     | Gross Farm   |
| Fisheries               | Producers |            | Production |             | Production | Measure      | Value        |
| HUNTING LEASES          |           |            |            |             |            |              |              |
| Waterfowl (Total)       | *         |            | 5,000      | No. Acres   |            | acre         | \$250,000    |
|                         |           |            |            | Leased      |            |              |              |
| All Other Game (Total)  | *         |            | 1,000      | No. Acres   |            | acre         | \$7,000      |
|                         |           |            |            | Leased      |            |              |              |
| Hunting Leases (Total)  |           |            |            |             |            |              | \$257,000    |
| NEW - Tialpia (Total)   | *         |            | 24         |             | 420,000    | Value        | \$1,260,000  |
| TOTAL ALL FISHERIES & W |           |            |            |             |            |              | \$257,000    |
|                         |           | ANIMAL E   | NTERPRISES | S PRODUCTIO | <u>N</u>   |              |              |
|                         | Number of |            | Units of   |             | Total      | Units of     | Gross Farm   |
| Animal                  | Producers |            | Production |             | Production | Measure      | Value        |
| CATTLE & CALVES         |           |            |            |             |            |              |              |
| Steer Calves            |           |            |            |             |            |              |              |
| 300-400 lbs.            |           |            |            |             | 1,500      |              | \$745,658    |
| 400-500 lbs.            |           |            |            |             | 1,500      |              | \$836,663    |
| 500-600 lbs.            |           |            |            |             | 1,200      |              | \$734,646    |
| 600-700 lbs.            |           |            |            |             | 800        | head         | \$549,900    |
| Steer Calves (Total)    |           |            |            |             |            |              | \$2,866,866  |
| Heifer Calves           |           |            |            |             |            |              |              |
| 300-400 lbs.            |           |            |            |             | 1,000      |              | \$441,455    |
| 400-500 lbs.            |           |            |            |             | 1,000      |              | \$521,775    |
| 500-600 lbs.            |           |            |            |             | 1,100      |              | \$635,916    |
| 600-700 lbs.            |           |            |            |             | 150        | head         | \$99,918     |
| Heifer Calves (Total)   |           |            |            |             |            |              | \$1,699,064  |
| WEST CARROLL PARISH     | I         |            |            |             |            |              |              |

## WEST CARROLL PARISH ANIMAL ENTERPRISES PRODUCTION

|                           | Number of | Units of   |                 | Total      | Units of | Gross Farm  |
|---------------------------|-----------|------------|-----------------|------------|----------|-------------|
| Animal                    | Producers | Production |                 | Production | Measure  | Value       |
| CATTLE & CALVES           |           |            |                 |            |          |             |
| Yearling Cattle           |           |            |                 |            |          |             |
| 600-700 lbs.              |           |            |                 | 500        | head     | \$324,838   |
| 700-800 lbs.              |           |            |                 | 300        | head     | \$213,638   |
| Yearling Cattle (Total)   |           |            |                 |            |          | \$538,475   |
| Cow-Calf Pairs (Total)    |           |            |                 | 100        | pair     | \$95,021    |
| Cull Cows (Total)         |           |            |                 | 600        | head     | \$226,950   |
| Cull Bulls (Total)        |           |            |                 | 50         | head     | \$42,278    |
| Cattle & Calves (Total)   | 200       | 13,500     | No. Cows        |            |          | \$5,468,653 |
| DAIRY                     |           |            |                 |            |          |             |
| Dairy Cows                |           |            |                 |            |          |             |
| Milk                      | *         | 107        | No. Adult Cows  | 1,265,000  | pounds   | \$185,449   |
| Bred Heifers              |           |            |                 | 3          | head     | \$5,205     |
| Cull Cows                 |           |            |                 | 28         | head     | \$15,750    |
| Bull Calves               |           |            |                 | 48         | head     | \$2,400     |
| Dairy Cows (Total)        |           |            |                 |            |          | \$208,804   |
| Dairy (Total)             |           |            |                 |            |          | \$208,804   |
| HORSES                    |           |            |                 |            |          |             |
| Brood Mares               |           |            |                 |            |          |             |
| Race Horses               | *         | 8          | No. Brood Mares | 3          | head     | \$24,000    |
| Show Horses               | 8         | 25         | No. Brood Mares | 10         | head     | \$40,000    |
| Recreation Horses         | 30        | 200        | No. Brood Mares | 60         | head     | \$90,000    |
| Brood Mares (Total)       |           |            |                 |            |          | \$154,000   |
| Race Horses (Total)       | *         |            |                 | 2          | head     | \$24,000    |
| Show Horses (Total)       | 100       |            |                 | 150        | head     | \$750,000   |
| Recreation Horses (Total) | 150       |            |                 | 200        | head     | \$300,000   |
| Horses (Total)            |           |            |                 |            |          | \$1,228,000 |
| GOATS                     |           |            |                 |            |          |             |
| Show Goats (Total)        |           |            |                 | 15         | head     | \$3,750     |
| Slaughter Goats (Total)   |           |            |                 | 100        | head     | \$12,500    |
|                           |           |            |                 |            |          |             |

| GO            | Δ٦       | ΓS |
|---------------|----------|----|
| <b>\ I\ /</b> | $\Delta$ | LO |

| Stocker Goats (Total)        |    | 20           | head | \$1,900     |
|------------------------------|----|--------------|------|-------------|
| Cull Goats (Total)           |    | 40           | head | \$2,600     |
| Goats (Total)                | 20 | 350 No. Does |      | \$20,750    |
| TOTAL ALL ANIMAL ENTERPRISES |    |              |      | \$6,926,207 |

**WEST CARROLL PARISH** \$56,611,726 327